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Indirect effect via import
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Mean = 0.20362, Std Dev = 0.11463
Median = 0.19504
Mode = 0.15029

95% Lower CI = 0.00173
95% Upper CI = 0.45225

Indirect effect via import
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Point estimate = 0.20334
Median = 0.19606

95% Lower CI = 0.00562
95% Upper CI = 0.45779





Indirect effect
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Mean = -0.01339, Std Dev = 0.00482
Median = -0.01303
Mode = -0.01254

95% Lower CI = -0.02376
95% Upper CI = -0.00503
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Indirect effect estimate
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Point estimate = 0.05628
Median = 0.05382

95% Lower CI = 0.01566
95% Upper CI = 0.10905
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Total natural indirect effect
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Point estimate = -0.11856
Median = -0.11259

95% Lower CI = -0.34057
95% Upper CI = -0.01015
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